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The mean deviation from the median for
the following data is -

34, 66, 30, 38, 44, 50, 40, 60, 42, 51
ey ) aipel % fre it § Ao fre
¥~

34, 66, 30, 38, 44, 50, 40, 60, 42, 51
(A) 8.7 B) 88

©) 89 D) 9.0

The mean and median of a frequency
distribution are 52 and 35 respectively.
What is the mode of the distribution 7

St amafd omEe ¥ AR aw R
FHgT: 52 T S5 ¥, O St W Wged
w7
(A) 61
(©) 53

(B) 53.5
(D) 54

Two identical cubes each of volume
&4 ¢m3 are joined together end to end to
form a cuboid, the total surface area of
the cuboid is -

(A) 80 cm? (B) 160 cm?

(C) 320 cm? (D) 640 cm?

2 I U Fored W 1 AT 64 T
% ¥ B & Wgmt UE 9 S99
3, WY T F T IO AT ¢ -
(A) 80 w2 (B) 160 2

(C) 320 T2 (D) 640 T2

The total surface erea of a cube is 1014
pquure meter. What i the length of its
side 7

(A) 6m (B) 169 m

(C) 13m @) 11 m

@ T B wE g few 1014 9
Bz & 1w B g & war @y ?
{A) 67 (B) 169 W

) 13 % (Dy 11+

ss1 11

The diameter of a circle is 105 cm less
than its circumference, The radius of the
circle is -

{A) 22 cm (B) 23 cm
(Cy 24 em (D) 24.5 cm

% 99 1 T SEw uid ¥ 105 ¥
AR e -

(A) 22 89 (B} 23

(C) 24 vk (D) 24.5 &%

An observer 1.5 m tall is 20.5 m away
from a tower 22 m high. The angle of
elevation of the 1op of the tower from the
eye of the observer is -

1.5 o we e 22 W &Y FE F 2059
Y | faw A el ¥ CEH O @
THEOT W -
(A) 30°
(C) 60°

(B) 45°
oy 75°

The value 50° in radians is -

500 @1 e H AW ¥ ~

(A) 50w B) 5=
5 5.

(C)'g'fr D) 18

The ratio of curved surface area of two
spheres is 4 1 9. What is the ratio of their

22
volumes ? | T = =

1 il 5 e Y Sy T ST 4 9 ¥

i ST T IR S ?[E=Z7%) ‘

By §:9
(D) 27:8

(A) 9:4
©) 8:27

[ETO.
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A cylinder has base radius 7 cm and height
10 cm. What is the volume of & cylinder ?

(A) 1540cm®  (B) 770 e’

© 70xem® (D) 1500 om’
TH AT P U dr Brewr 7 GA1 war
FaE 10 FM Y 1 Fe B ST = E 7

(A) 1540 %% (B) 770 @
© 770wk (D) 1500 %

10 The radius and the height of a cone are in
the ratio { : 3 and its volume is 1078 cm3,
then its diameter is -

(A) 35cm (B) 7 em

(C) 14 cm (D) 21 em

U §iF @ T ug ST & e 13
FUT TS agaw 1078 §° ¥, 99 T
=y % -

{A) 3.5 99 (B 7 &

(C) 14 T (D) 21 &A1

11 If a=1 and b=1 is a solution of the
equation Sa + p =175, then the value of
pis-
aft a=1 & b =1, ghE
Sa+ p=17b T UF T 5, 9 p E
qE -

(A) 5 @) 7
(<) 11 ) 12
12 Solution of the eguation
4 -
(4+a)(s a)=1 s
(2+a)(7-a)
4 -
(4+a)(5-0) | oy
(2+a)(7-a)
wal @ am-l
) 3 (B) a= 3
© a=3 @) a=-3
651 I1

13

14

15

16

Base of a hemisphere, a cylinder and a
cong is equal and also the heights are same.
The ratic of their volumes is -

TF SE N, TF 49T A UH GF F
ST TOET qan Hur o e ¥ gk

FTE W YU & -
(A)1:2:3 B)yz:3:1
€ 3:2:1 D)2:1:3

A metallic sphere of radivs 2.1 cm is
melted and reset inte sphere ball of half
radius of origin sphere. How many such
spherical balls canr be made ?

TF uTg & e 2.1 ¥ B w ¥ R
TroererT ooy ot Brer @ T iy
gAR ¥ TE FRE e A% 99 e
¥

(A) 2 B) 4

€6 {D} 8§

The square root of 3025 is -

3025 @i qigE ¥ -
(A) 35 (B) 45
(C} 55 (D) 65

Water in a canal, 6m wide and 1.5m deep,
is flowing with a speed of 10 km/h. If
8 cm of standing water is needed, then
how much area will it irrigate in
30 minutes 7

(A) 56.25 hectares (B) 91.47 hectares
{C) 80.76 hectares (D) 76.56 hectares
uw 6 H 91 of 1.5 wE et ¥ ue
10 kvh & e @ 3% w1 E ) Al 8 E
T Gl U =i o & 30 Bre # R
g e Wl ?

(A} 56.25 ¥FraT

(B) 91.47 ¥RaT

(C) 80.76 ¥ut

(D) 76.36 ¥RAT

[PT.O



'4x2+4x~3) =9
L\

A (25 —1){2x - 3)

B) {2x+1}{2x-3)
O {2x+3}[2x71)
{

@) {2x+1)(2x +3)

The cube root of 2197 is —

2197 & O9F & -
(A) 23 (B) 17
() 19 (D) 13

Stedy the given line graph carefully to
answer the question :

fru T T SE B EEES T &
Gy W ETT §
-
il
B |-
BOD foerrrmvmrenn sminenn e
760 |- /
§00 .

500
400 |-
300
200
100 b=

t + u k g T2
O gmiy 2012 2013 2014 2015 2016
(7)) Years —>

What 15 the percentage increase in exporl
from the lowest to the highest for the given
years 7

Ry T et § g Prafa @ e
Brefa % Rect Wi A gra g ¥ 7
(A) 200%

By 250%

(C) 300%

(D) 400%

I1

20

21

22

23

The perimeter of a certain sector of 2 circle
is equal 1o the length of the arc of a
semicitcle having the same radius, then
the angle of the secior in degree is-

22
-
s g % Pifvea Baare @ i, W

e % ordgd & = ) FREE & TR
3, & fregave @ e R A ¥ -

( 22
T=—
[

(A) 65° 27 16"
() 65° 5 1"

(B) 65° 45' 45"
(D) 65° 45 5"

The three vertices of a parallelogram taken
in order are (0. 1), {2, 3) and (4, 3)
respectively, then the coordinates of the
fourth vertex is -

P o T % e O i e
©, 1), (2, 3) 3 (4, 3) ¥, 73 D ot &
Fadoris ¥ —
(A) (2, 1)
€) -2,

(B) (1.2)
(D) (—25 -1

What would be the printed price of a wall-
clock purchased at ¥ 380, so that after
giving 5% discount, there is 25% profit ?

e A T & ol qea w1 e Al
mmgamso%qasmgzé#%s
TE 25% WW & 7
(A) 400
{C) T 500

(B} T 450
(D) % 600

If birth rate and death rate of a city is 10%

each, what will be the approximate
population of the city afier 2 years, if
cwrrent population is 3000 ?

afx Tw T B T T AW TG 7D
10%% 12 a8 & TR FET B T TTHEH
1 € ofy T S 3000 § 7
(A) 2940 (B) 3060

(C) 3630 (D) 3000

[PT.O.

24

25

26

651 I1

Area of piece of a canvas is 1105 m?, A
conical tent is 1o be made by canvas with
base area 616 m?. Assuming that all the
stiching margins and the wastage incorred
while cutting, amounts 1o approximately
5 m?, then the height of the tent is -

(A) 2071 m {(B) 24 m
(C) 1820 m D) 21 m

% HAEE & gHe @ A 1105 92 ¥
W A G UF T GBI & Y T
fogd amu @ d9wa 616 T2 ¥ | %
= g T R oft wei o s 5 o2
FTA T O BN | iy & sui § -
(A)y 20.71 9 By 24

(C) 18.20 ® (D} 21 #

I P{1) is a polynomial of degree # > 1 and
{1 —2) is a factor of P(t). then P(2) is -
(YR

®) (r-2)

<2

(D} Can not be determined

af P(t), » 2 | O T GYS AW (- 2),
P(t) ® T& TorRETs ¥, e P2y -
(A) O

By {1-2)

(2

(D) s T2 fmm . wEW

1 1
The value of (250047}/3 —(13824)A
is -
1
(250047)A —(13324)% W OAE -

(A) 23 (B) 29
(€) 33 (D) 39
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28

29

27 The area of a circular ring enclosed

betweern two concentric circles is 286 emZ.
What are the radii of the two circles if
their difference is 7 cm ?

{AYy 14 ¢cm, 7emn (B) 10 em, 3 cm
{(C) 12cm. 5cm (DY 13 em, 6 cm
S HHhe gol & 9 Ui O guEm
gy B fed 286 B2 Y | I g W
Broue @ ¥ oft s sl@r 7MW R 7
(A) 14 89 7 99 (B) 1099, 3 &t
(Cy 12 %7, 5 &0 (D) 13 3, 6 &

Area of the smallest square that can
circumseribe a circle of area 616 cm? 1s -

{A) 784 cm? (B) 824 cm?

(C) 864 cm? (D) 764 cm?

I9 BlE & B T @ eEE I R u
616 Tt ¥ f%w T o W Ui
T d v
(A) 784 Fp2
(€) &64 T2

(B) 824 w2
) 764 T2

Out of ¥ 20,600 Narendra gives some
amount on loan at simple interest rate 8%
per annum and rest amount at simple

4
interest rate ‘3-% per annum. At the end
of year ke earns ¥ 800. The amoum given
at 8% rate will be -

T T 20,000 & & 3 TR 8% B AR

qiites =yt =8¢ 9 & o ufin < %H?r

Wmﬁfmmawmh% e
& oy A 3R T 800 B e arifa R R
8% =R BT 9T wure & ol ufd gl -
(A) T 8,000 (B) ¥ 6,000
(C) T 10,000 (D) T 12,000

[PT.O.



30

31

2

33

Tomu invested 10% more than the
investment of Monu and Sonu invested
10% less than the investment of Monw. If
the total investment of all the three persens
is T 60,000, the investment of Monu is -~

I, G 10% T BRI BT ¥ de
|, AF ¥ 10% %9 Py s d ol
it et @ g P T 60,000 %, Hi
PR ¥ - -
(A) T 10,000
(C) T 30,000

(B) % 20,000
(D) T 40,000

How many cubes of 25 cm edge can:_i)-f:_
put in & cubical box of 1 m edge 7

1 7 BFTe T wEmeT e W, 25 3
e ot BT s @ wama ¥ 7
(A) 4 B) 16
(C) 32 (D) 64

If point A (x, 3 1s equidistant from the
point B (3, -4) and C (-2, 0) then - ..

qﬁﬁﬁA(J@y);f&_‘gB@,—4)ﬁm:.v'
C(_zso)'aw%&q‘t%ﬁa*

(A) 4x-8y=16
(B) 4x—13=2y
(C) 10x -8y =21
D) 10x+8y=16

The value of (423801)'/5 +(22301)% ‘
is -

J 1
(423801)A + (22801)/2 @A -
(B) 912
(D) 812

(A) 902
(C) 802

651 1

34

35

If A, B, C are the angles of a {riangle,
then the value of

tan (B + C}+ tan{C + 4) + tan {4 + B)
tan (7 — A) + tan{x — B) + tan{n - C)

is equal to -
T A, B, C el fryst & @w ¥, @8
tan (B + ') + tan(C + 4} + tan{ A4 + B)
tan{m — 4) + tan{x — B) + tan{x - C)
A AE ¥ -
A0

© %

In the adjeining figure, ZADE = /B,
AE=8cm, EB=7cm, BC=%cm,

AD=10cm and DC=2cm, then the
length DE is -

® 1
(D) tan (A+B+C)

A
k (2]
B C
(A) 2.1 em (B) 6 cm
(C) 6.75 cm (D) 7.8 cm

que 3 ¥ £ADE = ZB, AE =389,
EB=7%%, BC=9#N, AD= 1089
g DC=28H .7 DE® w=E ¥ -

A
E D

B c

(A) 2.1 T (B) 6w

©) 6.75 A% (D) 7.8 9y

[P.T.O.

36

37

Two parailel lines AB and CD are
intersected by a transversal EF at M and
N respectively. The lines MP and NP are

the bisectors of interior angles /BMN
and ZDNM on the same side of the
transversal, Then ZMPN is equal te ;

s frdie T EF, 3 79 @il AB
F CD W HAs: MO N e % 1 [

TEnd MP aar NP, e Tan & ws & s
e arafiE BT ZBMN g7 ZDNM
F o ¥ 1w AMPN @ oA E -

{A)y 45°
{C) 90°

(B) 60°
@) 120°

A passenger train takes 2 hours less for a
journey of 300 km if its speed is increased
by 5 kmv/hr from its usual speed. The usual
speed of train is -
(A) 25 km/hr

(C) 15 knvhr

(B) 30 km/hr
(D} 20 km/hr

300 et <t w w5 A ue AEh Y |
292 8 T W ¥ i s R wmE |,

ot § 5 felye, we7 S ww | w8
A T ¥ -

(A) 25 fedid, (B) 30 Redi/d.
() 15 Tl (D) 20 Fedys.
61 T
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40

38

39

41

Which of the foliowing 1s an equation ?
fre & & B o g ¥ 7

(A) x=0

By x+220

(€) 9-5=4

D) (x+ ) =xt+20p 47

The average salary of a group of unskilied
workers is ¥ 10,000 and thai of a group of
skilled workers is ¥ 15,000. If the
combined average salary is ¥ 12,000, then
the percentage of skilled workers is -

P AR & UF W o e G
T 10,000 ¥ o1 FvW AR & UYE &
I T 15,000 % | aRk o =E @ Hgad
airEd gaT T 12,000 8, A 9w AR B
sl ¥ -
(A) 30%

(C) 50%

®) 40%
(T} 60%

If logjg2=03010, the value of
logg 1024 s -

Ay logg 2 = 0.3010, & logs 1024 &
7§ -
(A) 4.306
(©) 6.931

(B) 3.010
(D) 1.386

A right wogle friangfe her height 12 cm
prd e 4 em, The mean of triangle is :

(A) 12 sq. cm (B) 48 sq. cm

(C) 24 sq. em (D) 32 sq. ¢m

uw geem Bop @ S 12 ¥ qa
amure 4 @ ¥ 1 Bow W e ¥

(A 129 & (B) 48 9 &
() 247t T (D) 32 W TR
[PTO.



42

43

44

45

46

In which ratio the point {3, p) divides the
line segment joining the points (-5, —4)

and (=2, 3} ?

g (3. p) fow srgum # fgad (-5, 4)
qar (-2, 3) & em aw e ®
T woan ¥ 7
{A)2:3
) 2:1

B) 3:2
Dyi1:2

100g is what percent of 1 kg ?

100 3@, | fomm @ Reoe wfawa & 7
(A) 1% (B) 10%

(C) 100% (D) 1000%

Two numbers are in the ratio 6: 7. If 4 is
added 10 each of the numbers, the ratic
becomes 13 7 15, then the smaller number
is -

Q) el B U 67 & | af s
AT T 4 Wig AT R ol eruie 13:15 W
Y, 9’ OB Wt -

(A) 36 {(B) 48

(©) 56 {Dy 60

The angle which is four times its
complement is -

TqE H, W AT YO B0 S T -
{A) 60° (B) 68°
(Cy 72¢° (D) 75°

A shopkeeper offers his customers 10%
discount and still makes a profit of 26%.
What is the actual cost price to the
shopkeeper of an article marked T 280 ?
TF FHERRIY &9 UEE & 10% g2 &
TR @ & AT ofr 26% w afeg wTe
¥ 17280 oifthe 7w o 9R] F gEEN &
oy arafos wa g A k7

(A) T 186.48 B 7200

(C) T 2072 {D) ¥ 252

65] |1

47

48

49

50

The distance between the points P (2, -3)
and Q (3, -2} 18 -

(A) 2 Units  (B) 542 Units

(C) 242 Units (D) 32 Unis
Rrg P (2, -3)aw Q (3,-2) & Heg &t g
% _

(A) 2 T
(©) 242 @

(B) 52 @i
Dy 242 zard

in which guadrant both abscissa and
ordinate are negative ?

(A) First (B) Second

(C) Third (D) Fourth

g =gals o 49 qu SR S WS
BT 7
(A) 9eH

(€) T

®) fida
(D) =gd

The compound interest on ¥ 10 lakh at
8% per annum is ¥ 2,59,712, When interest
is compounded yearly then the time period
is -

(A) 2 years (B) 3 years

(C) 4 years (D) 5 years

710 ¥ & 8% i@ @ I § THYhE
= $2,59,712% | 99 = it 39 A
a9 gEaEty ¥ -
Ay 2o

() 4ud

(B) 3 7%
(D) 5§

If the selling price of 20 articles is the
same as the cost price of 23 articles, then
the profit percent is -

afy 20 axgalt @ fame geE 23 agH &
B T % WA ¥, a9 o W § -
(A) 10% (B} 11.5%

(€} 15% M) 30%

[PT.O.
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51

52

53

Which of the following is not a rabi crop ?
(A) Rice (B} Wheat

(C) Barley (D) Masoor

frem & 4wl & A wEe ¥ 7
(A) wraw (B) 7

(© ) TR

Which of the foilowing is not an agro-
based industry ?

(A) Edible oil (B) Khandsari
(C) Papar — Bhujia (D) Cement

fey ¥ § wear gle-anafe wdm @
B

(A) @ W (B) wweaT

(©) ums - R (D) g8

As per recommendations of Fifth State

Finance Commission of Rajasthan,

distribution of the allocated rescurces for

locat bodies, is to be made in the ratio of -

(A) 75.10% to rural bodies and 24.96%
to urban bodies

{B) 70% to rural bodies and 30% to urban
bodies

(C) 40% to rural bodies and 60% 10 urban
bodies

(D)} 50:50 to both rural and urban bodies ;

rTeT W e T Tt strde @ fateel

& STIATL W= Pl ®1 arefen g

& e e & -

{A) 75.10% Tirsior Frepral T ofT 24.90%
sl el =

(B) 76% Tl framal @ wd 30% sted
Frprl ®

(C) 40% T fraprdl &t wo 60% 180
el @t

(D) 50:50 21 wdiw wd sredy Freprdl
fimg

651 I

54

35

56

57

58

Which Article of the Constitution deals
with  powers, authorities and
responsibilities of Panchayats 7

TR 1 BT AR Y & g,
sty it Pl @ gaftm € 7
(A) 243 (A) (B) 356 (B}

(C) 357 (D) 243 (G)

When was Central Arid Zone Research
Institute se1 up 7

i gk A ST WEE W TR &
fe mar & 7

(A) 1971 (B) 1966

(C) 1959 (D) 1985

Which of the following institutes purchases
handicraft items directly from the craft

perscns ?

fm & § P dwr s & 99
T A SeE SRR aRgel B mie
¥ 7

(A) RIICO (B) RFC

(C) RAISICO (D) RBI

Whe conceived the idea of the Indira
Gardhi Canal Project 7
(A) Mchanlal Sukhadia
(B) Jawaharlal Nehru
(C) Jainarayan Vyas
(D} Kanwar Sain

T & o & 7

(A) HrEer ganed
(B) TR EE

(C) YT =

() &aT T

How many districts of Rajasthan are
covered by Thar desert 7

v & frr fel § are e

TWE 7
(A) 5 (B) &
©y 7 (D) 12

[PTO
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When was Rajasthan State Mineral
Development  Corporation  Ltd.
amalgamated with Rajasthan State Mines
and Minerals Ltd. 7

{A) 20 January 1990

(B) 26 December 1995

{C) 1 March 2000

(D} 19 February 2003

T ed v T fem R s
Rrrg e o @ TE w@he W d
FY Fam 7

{A) 20 FFaL 1990

(B) 26 Rewx 1695

{C) 199 2000

(D) 19 wad 2003

What is Saksham Yojana under Sarva

Shiksha Abhiyan implemented in

Rajasthan ?

{A} It ensures self employment to youth.

{B) Ii gives self defensive fraining to girls.

(C) It gives skill development training to
youth.

(D) It gives
housewives.

R § T W wd B afwme &

Siei wem Eern w ¥ 7

(A) T% o w & TR yiifas weh
%

(B} ug wifepran) &l amveven & frg vl
R

(C) % a1 A ) BT feemrd w1 s
E

(D) W% efrt B dom AR 0 R

insurance policy to

What is the share of Government of
Rajasthan and Hindustan Peiroleum
Corporation Ltd. in Rajasthan Refinery ?
T FreETl # g ' oR
Torgmm Y T R, o ey Reaei
¥ 7

(A) 74 : 26 {(B) 26:74
©) 75 : 25 (Dy 25: 75
5111

62

63

64

65

In which of the following district indusirial
cenres of Rajasthan not a single large scale
indusuy is operating as on 31 March2017 7
(A} Dausa (B) Jalore

(C) Pratapgarh T Al of these
P W @ e & fisg T oheif
FT ¥ 31 w5 2017 W o A7 92 4WE
TE wEYw TE a7 7

(A) & (B) s&r

(C) waremE (D) & =y

Which of the following is first Super
Thermal Power Plant of Rajasthan 7

{A) Suratgarh Super Thermal Power Plant
(B} Kota Thermal Power Plant

(C) Chhabra Thermal Power Plant

(D) Dholpur Gas Therma! Power Plant
= % ¥ #w TR W W gl
it uET Wi ¥ 7

(A) O HWL W AT Wi

(B) Wik mdy S e

(C) BE=T aUR e Wi

(D) dwyT 9 adE 9T @i

Rajasthan has
reserves of the country.

perceni Felspar

T § AT w1 TGt HI
R ¥ |

{A) 100 (B) 50

(C) 33 (D) 66

Which of the following power projects of
Rajasthan is under state's complete
ownership ?

{A) Chambal Project

{B) Beas Project

{C) Mahi Project

(I}) Satpura Project

Proffafas & T &) @ g
fETT T % R @ O s A
af e & 7

(A) == qitdieT (B) = whvaer
(C) Ay T (D) wageT REE

[ PTO.

66

67

68

69

Name the Ruler of Jaipur who served the
Mughal Court consiantly during the reign
of Mughal Emperors viz. Shahjahan and
Aurangzeb.

{A) Raja Man Singh

(B} Mirza Raja lai Singh

(C) Maharaia Sawai Jai Singh

(D) Raja Bhagwan Das

AU WEE EAET AR ST &
qrEeEE & Frat W e ¥ &Y 3
TR SUYT F S B AW gER |

(A) TSI RS

(B) fa=tt v wrafiE

(C) TERr TR wATHE

D) TS YrEE w9

Who was the founder ruler of Kota State ?
{A) Madho Singh (B) Mukund Singh
(C} Kishore Singh (D) Ram Singh
HE 9T BT GETE SEE B 17
(A) wrEifie (B) qFfie

(C) fstriis (D) TmiE

In which Hindu menth (V.8.) is Teja
Dashmi celebrated ?

(A) Asoj (B) Shravan

(C) Bhadrapad (D) Kartik

frw g wm (Frw) & <omeerd T
R & ?
(A) SmEwT
(C) wreas

{B) ==
(D) =i

Champakali ormament is wom on which
part of the body ?

{A) Neck (B) Head

{C) Forehead (D) Ear

TRTEsE] HIEO T % T e X wEe
¥ P

(A) T ®) R

(C) @ D) &H

651 J1
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71

72

Whe proposed the formation of Hadauti
Sangh' to integrate the smaller states of
South Rajputana 7

(A) N. B. Gadgil

(B) Maharao Bhim Singh of Kota

(C) Makarao Bahadur Singh of Bundi
(D) Gokul Lal Asawa

T [T % W (e W Tl
A % g TRk q N @
wera fe

(A) wdq, €. mefm

(B) wertrg sfmfde (@)

(C) wENrE FWIEHET (F2)

(D) igw we s

Which ruler of Juipur compossd poems
undet the peo-nmme Thiinidhi 7

{A) Sawai Jai Singh

{B) Sawai Pratap Singh

{C) Sawai Prithvi Singh

{D} Ishwari Singh

TEGR A BT S B S
Irm gy feas &7

(A} warg Wi

(B) war§ Wiz

(€) wer geifire

(D) {yartifte

Who founded Vardhman Vidyalaya in
Jaipur ?

(A) Vijay Singh Pathik

(B) Tikaram Paliwal

(C} Azjun Lal Sethi

(D) Heera Lal Shastri

wrayy ¥ gfuR fiew @ e B
w7

(A) Truratds it

(B) Lremem wraEE

(©) orfTae &4

(D) S $eR

[PT.O.



73 Who among the following was one of the
leader of the revolt of 1857 in Kota ?
(A) Jaidayal
(BY Wand Kishore
(C) Kenhaiyalal
(D)_._Kushal Singh
Prafafas & § @9 &= ¥ 1857 & REE
B TF AR 917
(A)- ST
(B): 7 feei
(C) FRaE
(D) By

74 Whjah is the most popular Rajasthani song
which describes the beauty of a young
girl ? _
(A) _:Kurja (B) Mumal
(C) Sapna (D} Gorbandh
A whw TeRaE i o Tad ¥ g
& AT F@ T
(A):W (B) Tre
(€) F@ (D) Ty

75 Where is the temple of Goddess Tripura
Suridari situated ?
(A)Vr._Banswara (B) Udaipur
(C) Dungarpur (D) Chittor.

el gl & AR we R 37

(A) SigamT (B) Uyt
(©) §TE ) fots

651 I1 ' 12
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77

Match the following Wildlife Sanctuaries
with their correct locations

(i) Ramgarh (a) Dholpur
Sanctuary

{iiy Jawshar Sagar {(b) Churu
Sanctuary

(if) Van Vihar (¢} Bundi
Sanctuary

(iv) Taal Chhappar (d) Alwar
Sanctuary )

{v) Sariska (e) Kota
Sanctuary ‘

Srfiaa wwaeir STl B T W

aERaREl § oy -

(i) g (a) HEgT
HAHYRWY

(i) TEEL AL (b) I8
HHYIEY

(iil) =7 foeme (¢) o
ALY

(3v) | BTAX (d) aEaT
SHYITY

vy sftem (e) =
g

. () (i b v W

A) @ @ @ {© O

B @ @® @ @© (©
© © @ @ &
® @ @ ©@ &) (@

Which tree leaves are used for making
‘bidi' 7

{A) Palash (B) Dhokda

(C) Tendu (D} Teak

T ga & uae & IuEe R ﬁm‘fw
Feard ?
{A) AT

(C) a5

(B) u‘m—'ﬂ
(D) gUEm

[P.TO.

78

79

8

81

The Gajner Wildlife Sanctuary 1s located
in which district of Rajasthan ?

(A) Hanumangarh (B) Bikaner

(C) Churu (D) Sikar
TR aRil ST YR &, B
ool % P & 7

(A) TIATTE
© 7=

@ aﬁmﬁn’ e
(D) T

Tharparkar breed is found in which region
of Rajasthan 7

(A) Western Arid region

(B) Shekhawati region

(C) Eastern region

(D) South-East region

Frfafaa ¥ & T & #ﬂ?{ @ﬂ ¥
AROTEHT A G W E 7 o

(&) sl e &=
(B) Srarardy &=
(©) T & B
(D) <hr-gd &= .

Red loam soil is found in district of :
(A) Sirohi (B) Kota , .
(C) Dungarpur (D) Bikaner .
e ge T ovr W awen faer o
(a) fater ® @@
(Cy $RR ) S .

“Nathra ki Pal” mine is located ir;;fistrict
of o

(A) Ajmer (B) Udaipur

(C) Sirohi (D) Barmer
¥

(A) TR
(C) Rrerr

(B) s=Egl
(D) =AY

651 T1
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82

83

34

85

‘Luni Basin' is a part of which broad
Physiographic division of Rajasthan 7
(A) Eastern Plain

(B) Western Desert

(Cy Aravalli Hilly Region

(D) South-Eastern Platean

e A e % few fawgm senelie
feramr 1w AE ¥ P

() gt Aar

(B) ufyerlt wed

(C) SrEe WEN wu

(D) Tfor—yEi T

Which of the following is with gentle stope
on sam dunes-wisdward side nnd plesp
slope on lecward sdy ¥

{A) Longbtuding (¥ Teaniverns

{3 Barchan (D} Mebklia
fersetifiEm W Wi W W e T
@R g e TR E B 9T B & ¢
(A) srgest (B) s

(C) T@m (D)} @

Which of the following Tekill has the
highest density of Sshoriya tribe in

Rajasthan ?

(A) Dhariyabed  {B) Kishrgnn)

(C) Chhabrs (D) Mangrol
T 7 Pt o 8 wre oeee
HETm ST o e sy § 7
(A) wfeEE (B) TRywioT

(€) 5T (D) R

Which of the following categaries of forest
covers the maximum percent of area in
Rajasthan ?

{A) Private forest

(B) Unclassified forest

{C) Reserveld Forest

(13) Protected forest

Freriias w1 Aftl F 9 T ¥ feas
i waiftE i d oamge ¥ ?
(A) Pl 2 (B) smpiiga =

(C) smifwr &1 (D) wfid o

{PT.0.
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Varun-18 is an exercise related te which
one of the following ?

(A} Naval

(B) Military

{C) Abrforce

(D) Disaster Relief Foree

TEI-18 T epa™ B ¥ § frw @
maferm ¥ 7
{A) e

(C) aRE

According to Budget announcement
2018-19 what will be the salary of
Asha Sahyogini in Rajasthan ?
2018-19 @) 972 WO F AU TeTa
¥ ‘aenm WEAIREY @ uw Fu e 7
{A) ¥ 1,830 (B) T 2,000

(C) ¥ 2,500 {Dy T 2,200

(B) u@d=r
(D) eTr9Er ed &a

Which one of the following Military
stations wiil be developed as smart facility
under the Smart City Mission ?

{A} Bhatinda {B) Wheeler Island
(C} Jaisalmer (D} Jodhpur
reafifan § 9 amw fed 2w we
Rt frem & qea i SRafed ¥ ww

Toeftm forar wrem 7
{a) dhms (B) 2w fg
(€) Nway (D) gt

In Rajasthan on which one of the following
dates, the second phase of ‘Mukhyamaniri
Bhamashah Swasthya Bima Yojana’ was
started 7

(A} 1 Jan, 2018 (B} 26 Jan., 2018
(C) 25 Now,, 2017 (D) 13 Dec., 2017
TR F Fe ¥ @ Bee R qees
HIFIIE WReE G ST % Tid oo
& e TR a7

(A) 1 9F=Tlt, 2018

(B) 26 s1er{l, 2018

(C) 25 &9, 2017

(D) 13 fegder, 2017

651 I'T 14
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91

92

93

Omprakash Mitharwal has won which of
the following medals in recent
Commonwealth Gemes 7

{A) Bronze (B) Gold

{C) Silver {ID) None of these
sy et ¥ T @ % ey
el | frr & & Fw wew da ?
(A) wiEg ®)

{C) w1 D) ¥79 & = =&
The famous ‘Batedu Well® is situated in

which of the following districts of
Rajasthan 7

{A) Barmer (B} Jaipur

(C) Bharatpur (D) Dausa

g aem pul Uwwm F e ¥ §
o ot ¥ ferm ¥ 2

{A) TR (B) wagx

(C) TR (D)

Ayushman Bharat Mission is related to
which one of the foliowing sectors ?
(A) Education (B) Health

{C) Finance (D) Sports

A WG frem @ vy e ¥
gy ?
(A) Toram

(©) forr

(B) =g
(D) W&t

Who among the fullowing is the present

Central Vigilance Commisstoner of Indla 7

(A) Shri Sharad Kumar

(B} Dr. Tejendra Mohan

(C) K. V. Chowdhary

(D) Alok Verma

Frafefes § 4 9 i & dwe S
o SRET § 7

(A) & @ R

(B) 3. dww =T

(©) %. 9. Sef

(D) s Tt

[PTO.
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95

96

97

‘Gararda Vrihad Peyjal Pariyojna’ is related
to which of the following district of

Rajasthan ?
(A) Bundi (B) Baran
(C} Kota (D) Jhalawar

R gEE YA QAT e &
Ay fm e s gatam ¥ ¢
) ®)

(C) B (D) HwmEE

What is the current Repo Rate in India, as
per the announcements made by Reserve
Bank of India in June 2018 7

o & ofe df=m 10 S 2018 W &
T HEel ¥ STHER W H gaH 1
Ewrt?
(A) 6.25%
(C) 5.73%

(B) 6%
(D) 6.1%

In which one of the following cities, the
Government of India will establish India's
largest data centre 7

{A) Bengaluru (B) Bhopal

{C) Indore (D) Jaipur

fre & 2 Rew o F urd Y@t wid w1
TEY 71 ST€T HeX g w7

(A) S (B)

(C) T (D) w=gT

National Digital Library of india is a

project of which one of the following

ministries 7

(A) Ministry of Finance

(B) Ministry of Education. Science and
Technology

(C) Ministry of Information Technology

(D) Ministry of Human Resource
Developmend

WITT @ T feiwen aealy Frefwiem

Y ¥ o s w1 WeEe ¥ 7

(A) frg e

(B) R, fasmt @ q@T HaTw™

(C) e g HeTed

(D) Are gmeT frerg F=wg

:ﬁszﬂ
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What is the new name of the ‘Sports
Authority of India” ?

(A) Centrat Sports Autherity

(B} Department of Sports

(C) Authority of Sports

{I¥y Sports India .

TEE SN afe gvear w1 T O
FME P

(A) E WER ST

B) = s Weg

(Cy Sl affw wida

(D) wrew gia

Wihe mmong the following is the 215
Lieutermnl Govermor af Dalkd 7

{A) Anil Baijal

(B) Tejendra Khanna

{C) Najeeb Jung

(D) Arvind Kejriwal

s & @ B et B 219 oI & 7
(A} stfre o

{B) T @

(C) " =

(D) entfae Heriam

What is the aim of Van Dhan Scheme of
Government of India ?

(A} Increasing forest cover

(B) Restriction on slash and burn
agriculture

{C) Preserving Biodiversity

(D} Empowering Tribal communities
economicalky

T T o) T B Tory o e T E ¢

{A) TAETT SHE

(B) Wy ToF I T U wiigs

(C) vrafarEa d@XET

(1) wereteE; w0 i wefame

[PTO.
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102

103

Pyramid of energy

(A) is always inverted.

{B) can be both inverted or upright.

(C) 15 always upright.

(D) is inverted only for sea ecosystem.

Eilitrec

(A) w5 s@d) argen ¥ 9 ¥

(B) TwY o1 WY ST ovasAr ® € g
¥

(C) v%F wdl areen ¥ g ¥

(D) Hed vqg aifes § wwdr awmmn |
B ¥

Who was awarded with the Nobel Prize
in 1975 for the discovery of ‘Central
Dogma Reverse’ 7

{A) Monad {B) Dalton

(C) Khorana (D} Baltimore
w2 e @ @ 3 fg w
1975 ¥ #Rw JN § feew awilm
ferar ¢
(A) HFE
©) g

(B) Swed
(D) SiemT

The fiow of energy ip an ecosystem
follows the lows of

(A) Kiretics

(B) Thermodynamics

(C) Probabitity

(D) Photochemistry

% ifRerRE! A S e e Bl
¥ e T ¥ 7

(A) ey

(B) oI

(C) gstregan

(D) vEmsrEre_

651 I'1
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105

166

In which form, does water oceur in gaseous
state i the atmosphere ?

(A) Snow particles (B) Water drop

(C) Water vapour (D) All of these "
qrgvEd § wd, g argen ¥ A w9 o ]
i i 1
(A) Tomr &
(C) Tarsy

(B) W €& |
(D} 4 &=y

Which of the three ‘R’s are regarded as |
environment friendty ? |
(A) Reduce, Reuse. Recycle |
(B) Reduce, Recreate, Reuse

{C) Repeat, Reorder, Recreate

(D) Recycle, Reorder, Repeat

Prefifas & & 2w A 9 R T 5 |
FIEA WA S ¥ 7 |
(A) ®R HEN, T9: SUEN, GAIEEHT

(B) ﬁm, REHERICH ETT:EW’F[

(C) QCad™, O wefiad, g 9
(D) Fv=, G i, geEe

For control of which disease is the triple
antigen (D, P, T) administered to children 7 |
|

{A) Diphtheria, Pertussis, Tetanus

(B) Diphtheria, Polio, Tetanus

{C) Diphtheria, Pertussis, Typhoid

(D} Dengue, Polio, Typhoid |
wedf @) frge wodre (D, B T) feg D &y
T g A TR E 7 ‘
(A) Bwdf, ggpam, e I-
®) fowhfr, afw, fee |
(C) Rewdifyan, pgTam, TEwEs
D) Ty, qifvdr, Trawas

[PT.O.
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108

109

110

In which year was the Indian Patents Act
passed ?

for =t A W S avfafrn oftd gen
qr 7

(A) 1960
(Cy 1980

B) 1970
D) 1990

Central dogma In molecular biology was
propesed by
(A} Gregor Mendel

(B) Thomas Husnt Morgan

(CY Frederich Griffith

{I)) Francis Crick

amiees s fee § qa g @ e
A wgd e

(A) T HEw

(B) UT9g ¥Z 9

(C) Wl firdver

(D) witew s

Which ol e following (s wsed as an
mntiedagulant in blood tmasfision ?

(A} Sodium citrate

(B) Sodium acetate

(C) Sodium carbonate

() Sodium nitrate

Frefafaa % @ frg qerd = T e §
Tl W aeE Iuam feur wer ¥ ¢
(A) wifsaw e

(B) Hifem ofez

(C) Hifeam e

(D) Wifeaw e

The nitrogenous hese found in place of
Thimmine o BMNA maleeule is

{A) Uracil (B} Guanine

{C) Cytosine (D) Adenine
AR & F awiE ® wmm v T
T = e am b

(A) Tefee (B) gan
(C) waRm (D) BRefm
ss] [T
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Which of the following is the largest
ecosystem in the world ?

(A) Desert ecosystem

(B} Grassland ecosystem

(Cy Ocean ecosystem

(D) Forest ecosystem

fagg ¥ gag @gr wifafis & oF-T
%7

(A) ustady witRufast o=

(By =meryfyr witftaRmn o=

(©) T qRatE 9=

(D) =t wiffefaat dor

The most commen cause of anaemia in
our country is
(A) Iron deficiency

(B) Magnesium deficiency

(C) Potassium deficiency

(D) Calcium deficiency

AN 391 § uhie & wed 99 e PR
Tefrmag R R g ?

(A) @ (B) Ffirr

(C) dréfiran (D) Hiragy

How many contrasting characters did
Mendel setect for his experiments 7

wed A oAq Wl % fag fead faw

FET G & P
A) 7 (B) 8
© 9 (DY 10

Who proposed the chromosomal theory of
inheritance ?

(A) Lamarck (B Darwin
(C) Hooker (D) Sutton
for i 7 ety @ gy e
v fear ?
(A) ks (B) eitfa
(€) T2 (D) w1
[PT.0.
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An electric motor converts

(A} Mechanical energy into electrical
energy.

(B) Electrical energy into mechanical
energy.

(C) Heat energy into mechanical energy.

(D) Eddy currents energy into mechanical
energy.

T TlaEd HET ¥ wOra B d o
(A) TFaT T B e A

(B) forga st w1 wifeas T 7 4

(C) wo 1 Sl & At ot o |

(D) v arasi @ wst o afs wat §)

The frequency of direct current 1s ;
(A) Zero (By 50 Hz
(C) 100 Hz (D) 220 Hz
P oy &) amaRy %

(A) 39 (By 50 Hz
(C) 100 Hz (D) 220 Hz

A ray of light is made incident on a
concave mirror, parallel to its principal
axis. After reflection it will -

(A) pass through the centre of curvature

(B) move paraliel to the principal axis of
the mirrer

(C) pass through the pole of the mirror
(D) pass through the prircipal focus
T H T e U6 e T W
THE! TEA Siel & TAMTAT Swaiad @t o
T | WERH % UTERE 98 —

(A) TR R RN

(B) T % ET o1& T FHIRAL W N
(C) ofw F g7 § qEen

(D) T& Pby & TN

651 I1
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119

A plano convex lens (g = 1.5) with radius
of curvaiure 20 cm is silvered at the curved
surface. The power of the system is -

TF ARG A (j=1.5} F % 998
@y Tt e 20 9 ¥ | 3 o @ aw
HaE T A @ Ui @ ¥ 1w
Frpm @t s (power) BRI -

(B) 10D

C)ysn Dy 25D
Lenz's law is a consequence of :
(A) Conservation of charge

(B) Conservation of momentum

- (C) Conservation of energy

. () Censervation of current

w @ Py oo E

(A) AN F HIEW B

- (B) ®@e =% ¥ @l

(C) wut F Homw F

© (D) 9T W g W

120

Which lamp is used as indicator in an
electric tester 7

{A) Sodium lamp (B} Mercury lamp
{C) Neon lamp (D) Tungsten lamp

ﬁgﬁémﬁﬁ#m%wwéawﬁ

iwmm% ?

121

(A) OfsTm & (B) whil dg
() Fram o (D) A An

The unit of rate of flow of electric charge

. is -

(A) Vol (B) Mho

(C) Ampere (D) Ohm

RfrzE oMY & A E T B e E -
(A) 92 (B) 7=

(Cy wrdrrY (D) 3l

[PT.O.

122 When white light is incident on a green
leaf

{A) the green colour is mostly absorbed
by the leaf.

(B) the green colour is mostly reflected
by the leaf '

(C) ell the colours except green are
reflected by the leaf. -

(D} ali the colours are equally ahsorbed
by the leaf.

wg w8 UE U{ gl Wiy ondi R E,

ar e

(A) TR % BT TR e A T O e
IR

(B}qﬁ%mg@m%wwm
A E

(C) woh % BT oY T & oafEd ey
w o guaila € E

(D) it & gy woft 10 e erae e
w W TR Y |

123 The delest of cye, thet arises due b (he

corfen of the eye having differemt
curvalures e horsonal and vertical
planes, is known as ¢

(A} Long sightedness

{B) Shoﬁ sightedness T
{C) Presbyvopia "
(D) Astigmatism

7 gtz G o sifw & @ & T %
e war SeaterT aat ¥ fuer 99 % wR
@ B ¥, wewr ¥ o

(a) o g

®) fre 3

© wu ke

D) R

6] I1
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124 1-V graph for a (conductor) metallic wire

at two temperatures T, and T, is shown in
the figure, then -

N
Ty
-
v
(A) T, > T,
(B) T,> T,
(€ T, =T,

{D) Cannot be determined from this
graph.

% e an F g 4 el T, =9

W -V aaas R ¥, @ - :

I
Ty
Ty
v
(A) T, > T,
(B) T, > T,
Cy T, =T,

(D) 38 ur% § Aw@ o few s w0

[PTO.
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IF2 A of eurrent is (lowiny in a conductor
from o bartery of 5V, then the resistance
of the conductor is :

(A) 2 Okm (B) 2.5 Chm
{C) 0.4 Ohm (0} 10 Ohm
s H R IRl ams 24

Tl o vl o 3, & e w wkey
BAT ¢

{A) 2 &y
{C) 0.4 &

(B) 2.5 oy
(D) 10 &

The law of reflection. "Angle of incidence
is equal to the angle of reflection’, is true
for reflections of a ray of light on -

(A) Plane surface only

(B) Concave surface only

(C) Convex surface only

(D) All of these

U S T, (SN B, TUed B
& AR B ¥ wE @ uw e &
TUERA & e ad ¥ -

(A) Haw wOw e & R

(B) e SI9wd GaE & Ry

(C) %uw wow o % il

(Dy & aly

Which of the following cells can not
produce contimious and constant current
for a longer time 7

(A) Lead accumulator cell

(B) Edison's ccll

(C) Daniel celt

(D) Lechlanche cell

P &= § ¥ TeE 8w @ Prowe 9 Prae
a0 W §9 % S i T S ey
e

(A) 9@ duE |8

(B) @ wa

(C) Ewm 4w

(D) ey o=

65] 1]
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128

129

130

131

A lens behaves as diverping lens in air
(4=1) and converging lens in water
(1 =1.3) The refractive index (1) of the
material of the lens is

U W Ay (g=1) F award a% "
G (u=13) ¥ afverd &9 % @O
AR BT | T % Y S s

() ¥ :

(A) 1.8<pu<13 (B) u>13
1.0+13

Q) u<lo (D) u= 5

Which is an example of physical change ?
{A) Metal rusting

(B) Silver tarnishing

{C) Water boiling

(D) Paper burning

fr o | B difee ofteds & s
t?

(A) ST @A

(B) T1E =1 wre B

(C) I W wEE

{D} BF @ w0

In the reaction KMnO, + H,C,04 +.....
— MnO, + CO,y +...... , equivalent
weight of KMnOQ, is 52.66, then molecular
weight of KMnO, is

FuFA KMnO, + H,000, +. —
MnO, + CO, +....ccn. . % @ 7 KMnO,
&l e WY 52.66 B T KMnO, @
T ¥

(A) 158.04 (B) 52.66

(€) 316 (D) 263.30

In which compound, the exidation number
of oxygen is positive ?

= % & few difte #, s &
STFHIT HEA UATHE & 7

{A) HyO, (B) Na,0,

(€) H0 (D) OR,

[BTO.

132 Which of the following compound is

1133

134

135

aromatic according to Huckel's ruje ?
T Fraw % e B Y @ e 9
iRt &

L.}

B N
H

(D) HyC CH,

How many structural isomers are possible
for Pentane ?

I % fRE ST e g 7
(A) G B) 1
2 >3

Among the 4 common type of refrigerants
which has the highest ozone depletion
potential ?

wsfreres % 4 g vl # & S seEmw
SRl TN Ha TEar & 7

(A} CFCs (B) HCFCs

(Cy HFCs (D} LTCs

White lead is
T dE (@) ¥ -
(A} PbCO;

(B} PbCO, - PhO

(C) Pb(OH), - 2PbCO,
(D) PbSO, - PO
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136 Monomer units of Nylon 6, 6 are —

137

138

(A) Adipic acid and Hexamathylenediamine
(B Terephthalic acid and Ethylenegiyeol
(C) Sebacic acid and Terephthalic acid
(D) Terephthalic acid and Methanal
TEAH 6, 6 W UEHG THET E

(A) ufefie awer T Tmwiinmds
(8) TwfE o T SR RS
(C) Tt avw 9 Tvdfers orm

(D) Tedfom o 7 A%

Select the correct statement about

thermosetting pelymers —

(A) Don't meit ar soften on heating.

(B) These wre groes-linked polymers

{C) Cross-linking oecurd during heting
and when it cools it ‘hordens
irreversibly.

(D) All of these

WYge EOH & MY WE FER a1 =

Faji e

Ay e w98 =R
1

(By @ Todwww agaw |

€y wl =% v frdw =ul w0 wm ow=
P emtamTa @ ImTwm & |
TE AT T Y FaAC SR |

@) & wh

Activity of heterogencous catalysis

depends upon :

(A) total surface area only

(B) the number of active sites per unit
amount of eatalysi oply

(C) method of prepamtion only )

(O total surfoce ares, number of active
shies aud method of prepamiion

Tl werTsT % wiigeam P STk -

(A) Baw 0 g FTE T

(B) Faw wimm = @l Hem why g
TETH B A W

(C) ¥aw T & fafy ox

(D) T TS &5wd, 9isd B! S gE
o = fafe 9t

[PTO. -



139

149

141

The elements which are good catalysts and
have the ability to change their oxidation
number are

(A) Transition clements

(B) Noble pases

(C) Alkalis metals

(D) All of these

ST FEH U2 SRISTT TE Bl 5w
B FHA TG AW G~

(A) H&T9 T

(B) Taw fm

(C) amir g

(D) A wh

Correct electronic configuration of
chromium (Cr) is —

FifEn (Cr) & 981 Toegitae e & -
(A} 3d*4s2 (B) 3d54s!
(C) 333442 (D) 3d%*as!

NH; has a muck higher b.p, than PH,
because

(A) NHj has a larger molecular weight
(B) NHj undergoes umbrella inversion
{C) NH; forms hydrogen bonds

(D) NH; contains ionic bonds whereas
PH; contains covalent bonds

PH, i G 5 NH, &1 Faeia e g

% =it

(A) NH, &1 enRes geaq™ vy sk &

(B) NH; ¥ arsiw 3wasiw ern &

(C) NH, ¥ SBE0E 9% & &rw

(D) NH,; ® @mafs s &5 ¥ afs PH,
¥ gedEE sy

51 11
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142 Match List-} with List-I and select the

correct answer using the code given below
the lists -

List-I List-II
{)y PVC (a) Thermosetting
polymer
(i1} Bakelite (b} Thermoplastic
polymer
(iii} Vulcanized (¢} Fibre
rubber
(iv) Nylon 6 (d) Elastomers

-1 & W1 & fuam #ifme 9 e
T R R wiE o W@ e 9 SuY F

T T

firee-1 fo-II
@ @ (a) TIGE WEH
(ii) (o) TG TgTH
(ii) FEBAFT T (c) BEI ()
{iv) MTaET—6 (d) wamwn gEw
Code /FE :

(A) () - (d) (D) - (b) (iid) - (») (iv} - ()
(B) () - (&) (i) - (&) (i) - (@) (V) - {©)
(C) () - {a} (i) - (b) (51} - (¢} (iv) - {d)
{D) (1) - (b) (iD) - (a) (i) - (e} {iv) - (&)

company introduced emoji
internationally on their mobile devices.

(A) Samsung {B) Nokia

(C) Apple (D) Motoroia

B Y ST 'Y 9T gHE
{emoji) T TET Y HEEw fEwg A
HLTT 4T}
(A) HHET

(C) T

(B) e
(D) AR

[PT.O.

144 Every XML document must begin with a

145

146

(A) Root element
{B) Child element
(C} XML version details
(D) XML attribute

% THEUIUE SR . % WM
A A =0

(A) ®z vz

(B) 5es el

(C) TaaTATE = faaor
(D) TaguHTn Ufee

Open source tool used for spatial data
anatysis is

@iy ¥ faseawr & fog wi § e
T i e T 3

(A) ArcGIS

(B) IDRISI

(C) Oracle Spatialjet

(P) QGIS

1s the first robot with Artificial
Intelligence to fly in space.

(A} CIMON
(B} Valkyrie RS
(C) Robonaut
(D} Spidemnaut

oEm ghe (anfefsfme Sefrmim)
& WY siafta ¥ 359 9 gew TER T

(A) g

(B) "emiy amts
©) TeFR

(D) WgsAie
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147 The web browser available witr fust

148

149

150

graphical user interface was -

(A} Opera (B} Chrome

{C) Erwise (D Firefox

wor Uiithshe gore STUHE % WY wawe
9 FEET a1 -
(A) @i

(C) T

{B) Bm
(D) BHTHE

The statement i ++; is equivalent to -
(Ayi=i+14

By i=i+1;

(Cyi=i~-1;

O i-=

HET i ++; GHE & -
(A)i=i+i%

(B) i=i+1 %

(O i=i-1; &

Dyi-— &

India's first super computer PARAM 8006
was launched in year

N & YE gET HEET WH 8000

guRY 9 . o g v g
{A) 1990 (B) 1991
(C) 1989 (L) 1992

is an Indian sofiware application
developed by ISRO 1o explore 213/3D
representation of earth surface.

(A} Bhuvan {B) Bhumi

(C) Bhuyaan (D) Bhudev

g @ waE & 203D femyfrem @
I & g T 3T Rt
UE WA HiedaT el ¥

(A) g (B) P

{C) = D) =

. [PTO.



